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=0
ES0 ALY (LTI /A HT)
ss0 22 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=0 594,808 607, 147 ~12,339
£SO AL (LU SIYT /AP HT) 450,989 452,408 A1,419
s20 22 158,089 159,508 A1,419
sHEF 2| 4,052 5,052 A 1,000
307 2120l & 540 1,540 A1,000
NIEEEEETT 540 1,540 A1,000
OBOIAIL X Z2HI(ZSY 42) ZF 0" 0 1,000 ~1,000
2ETHSAY 18,554 18,584 A30
201 YEr2 | 270 300 A30
01 AFR 22| H] 270 300 A30
OO0 RN24(KAEL) 2T 270,000 270 300 A30
FOIRHRI D182 5t 67,739 68, 128 £389
301 LB A2 65,339 65,728 £389
10 BAMEIE43 3.499 3,888 £.389
OO0IFEIoS 3lo HAT SA(HLRY)
AT 3,499,000% 3,499 3,888 £389
HH2YAH (22 ) (OIEHIIEH 143,819 154,739 £10,920
o122 Y| 47,945 52,945 5,000
o1z 2oyl 47,945 52,945 5,000
101 9121 bl 47,945 52,945 5,000
NI 47,945 52,945 5,000
OANAAZ R (FHT U &)
3T 47,945,000 47,945 52,945 5,000
EEE 95,874 101,794 A5,920
EETH 95,874 101,794 A5,920
201 et | 41,102 42,614 A1,512
01 At 22lt] 26,166 27,678 A1,512
OSMEX PY(WMEY) AT 672,000 672 2,184 A1,512
202 Of 42,528 45,920 £3,392
01 =L o1 bl 3,528 3,920 £392
ULET RLHOIHI (0] A E )
3 3,508,000% 3,528 3,920 £392
02 2 0 b 39,000 42,000 A3,000
OB AOfHI (0 &= ) A3 39,000,0008 39,000 42,000 3,000
203 &2 E bl 9,144 10, 160 ~1,016
NPEEEEEEST 5,940 6,600 2660
OB JIVSYYLETH (0 LE)
AT 5,940,000% 5,940 6,600 £660
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